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B () =9 WS A e 26 v 2| weft v sfErd £
(i) T g & o o 3 396 SR S T 8
(i) T G 1 ¥ 10 96 31 67 FRT 1 37 & T &1 Fedd Pl KR 20 Wl
< 31 T 21| wee e 11 ¥ 20 T o7 TR 3 37T & 9o &1 Feddb B TR
80 TTT < 31T = &Y | T T 21 | 25 O a1y IR 5 37Dl & IH & | I
1 3R 150 TrET ¥ 36 7 1 Yo A 26 AHfeA | e wawdt &
UETE 9T O & TR g

(iv) 23 T frea qom wRa & Y- amRE! o 3R gRadT § e Sl
(v) HHRE @ R a3 3 T Srce srar R o s srge

(vi) TR e < TR SIS T 31 I BXat o1gd | Sl We A S7ell &1 39 R o
I 9 iR

Note : (i) There are in all 26 guestions in this question paper. All guestions are
compulsory.

(i) Marks allocated to every question are indicated against it.

(i) Question Nos. 1 to 10 are very short answer type questions carrying 1
mark each. Answer to each of these questions should not exceed 20
words. Question Nos. 11 to 20 are short answer type questions
carrying 3 marks each. Answer to each of these questions should not
exceed 80 words. Question Nos. 21 to 25 are long answer type
questions of 5 marks each. Answer to each of these questions should
not exceed 150 words. Question No. 26 is related to identification or
locating and labelling of geographical features on map.

(iv) Outline maps of World and India provided to you must be attached
within your answer book.

(v) Use of templates or stencils for drawing outline maps is allowed.
(vi) Start from the first question and proceed to the last. Do not waste
time over a question if you can not solve it.
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1. freafafed 8 @ o 91 v goiiae fsareeam &2

() i (i) T

(i) TUR . (iv) 3m=C

Which one of the following is a tertiary activity?

(i) Farming (i) Weaving

(iii) Trading (iv) Hunting
2. =4 3o A vod o T8 82

(i) STBY (iy fafa el

(iiiy o7 HIY | (iv) afoTsyT 31T B

Which one of the following does not follow monoculture?

(i) Dairy farming (i) Mixed farming

(ii) Plantation agriculture (iv) Commercial grain farming
3. FrafoRed # Q P-1 w0 wa et o1 3w T8 &

() errg faftmar (i) HTATHSD Hifel

(i) TRIN® T (iv) 3FauuT 3iRR guie

Which one of the following is not an approach in human geography?

(i) Areal differentiation : (ii) Quantitative revolution

(iii) Spatial organisation (iv) Exploration and description
4. FfoRea § & SF-91 v Wi Gemm o1 |id Ta 82

(i) ol & R (i) ST "

(iii) AT & g garef & T (iv) TN AETdbre

Which one of the following is not a source of geographical information?
(i) traveller's accounts (ii) old maps

(i) samples of rock materials from the moon (iv) ancient epics

5. IReT TR 7o A &2

What are Garrisson towns?
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6. TORE Feul § Tiial & safeifd & BH-¥ 7% $R® ad &l 1

What are the main factors for the location of villages in desert regions?

7. N o= AR ST/ O 3 3T % T WG THTd 8 Fhd 87 1
What can be possible impacts of consumption of contaminated/unclean water

on the people?

8. &df~ YEHUT & UB S Hid &1 AW feiie| 1

Name the one major source of Noise Pollution.

9. WMd WY R 1Y YgHUT & T THIG U5 &7 1
What are the effects of air pollution on human health?

10. 3511 % sURURS g PH- &2 1

What are non-conventional sources of energy?

11. HF4 faeRT & I T gedi & A feiae| 3

Name the three main components of human development?

12, o7 TP VBT AT AR B Hea1 @Y 51 Hebell &7 TR Tgibraic® a9 8 i 87 3
Can one imagine the presence of only one-function town? Why do the cities

become multi-functional?

13. HHE YA & O U-&31 S A gL 3

Name some sub-fields of human geography.

14, 3ndieT ¥ SRf ke e €, ik O steifie gfc & g7 aga fesT #eE &
HHET BHifoTe | 3

Africa has immense natural resources and yet it is industrially the most

backward continent. Comment.
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15. =1 & T IferaT T 3reaas Hifse Fe qE T s & IR A 3
YR & 5 1501 § Al gaeaR N &1 I (et #)

S5 Yot eI Fae gRAOT | FEleEd | WER
Hid gaeeR 36.7 12.8 34.1 6.9 11.9
3cTe (Piet H)

() 3% T P A FASE &1 I, BT Uil SaCOR AT Icared 2| SHDBT HRUT WL
DiteTe|

(@) 39 ISY BT T SABE STaT g, BT I i 8RR U1e & | SHHT HROT Faise

Study the given table and answer the questions that follow.

Per hectare wheat production in leading states of India (in quintals)

State Punjab| Madhya Pradesh | Hariyana | Karnataka |Maharashtra
Per hectare 36.7 12.8 34.1 6.9 11.9
production

(in Quintals)

(a) Name the state which has highest per hectare production of wheat. Give
the reasons for the same.
(b) Name the state which has lowest per hectare production of wheat. Give

the reasons for the same.

16. §5R Yf T B drg =ef 4ftr 7 seR W S| 3

Differentiate between barren and culturable wasteland.

17. s, gRamon 3R affemrg sl § wad st AT st e % e o @ oRe
TR &7 3
What factors are responsible for the highest groundwater development in the

states of Punjab, Haryana and Tamil Nadu?
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8.

19.

20.

21.

27,

23,

24.

25.

1Y SGHUT & FH%E AT BT Ieed DHifoTe| | 3

Mention the major sources of air pollution.

wﬁm%%aﬁaﬂﬁawaml 3

Give an account of the distribution of mica in India.

YR & Hedd 30T Td Y AT 3 Il T 3T T2 § STt &1 ueied 40 21 59
HUT & GRCHIVT | TR & [GoR0T N STefarg o) Ufire &1 W S| 3
Very hot & dry and very cold & wet regions of India have low density of population.

In this light, explain the role of climate on the distribution of population.

famrTeNe el & TWRIT Siaal o T3t &1 fGaes S| 5
Discuss the problems associated with urban settlements in developing
countries.

IRd H ST & U & I [9a=0T $I [adae S| 5

Discuss the spatial pattern of density of population in India.

e 3R feeitaes nfafaféral # @ar smeRr 22 5
Differentiate between Primary and Secondary activities.
STHIT® FHAUT DI T AGRA3IT B faae=T Sifsm| 5
Discuss the three stages of demographic transition.

X190 Y B Je faRivaTt s v fire-firm el # 3 St areht 5 g 9ot e

& 9 gAY | 5
Discuss the important characteristics of Plantation agriculture. Name few

important Plantation crops from different countries.
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15. < &I % qicet @7 3reza SISTE 7o g e et &7 3R AR 3
IR & T X4 3 9T TR A BT FereT (et H)
759 LEIIG) eI YT gRaon | Ffed | #ERTE
9T g TR 36.7 12.8 34.1 6.9 11.9
ITe (P<ieT H)

(@) 3% X157 BT M AT STET g BT Afl 2aRIR Falferss earaT 2| ST BRI T
D]

(5) 3 o0 &1 A FAIFE ST 71, BT A il SROR e | 50T HROT a7z

Study the given table and answer the questions that follow.

Per hectare wheat production in leading states of India (in quintals)

State Punjab| Madhya Pradesh | Hariyana | Karnataka Maharashtra
Per hectare 36.7 12.8 34.1 6.9 11.9
production

(in Quintals)

(a) Name the state which has highest per hectare production of wheat. Give
the reasons for the same.
(b) Name the state which has lowest per hectare production of wheat. Give

the reasons for the same.

16. R Ui q2 Y ara ool YRy § 3R W ST 3

Differentiate between barren and culturable wasteland.

17. dst, gRawn ik afferg Wt § Wy st i St e B e o @ o
JaRer €7 5
What factors are responsible for the highest groundwater development in the

states of Punjab, Haryana and Tamil Nadu?
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18.

19.

20

21

22,

23.

24,

25,

TG YGHYT & TE Wl &7 Ieoid Dot 3

Mention the major sources of air pollution.

YR # 31y & fqaxror &7 faaxor a5l 3

Give an account of the distribution of mica in India.

YR & 37T 30T U I AT 37 S § 37T Jewh H ST B ocd 1 &1 5
B b GREDIVT F TS & GaR0T H Searg B YRS B W Bifore | 3
Very hot & dry and very cold & wet regions of India have low density of population.

In this light, explain the role of climate on the distribution of population.

fgmrereie oo # R sRaal & TRl f fadT= BT 5
Discuss the problems associated with urban settlements in developing
countries.

HRA H SHEE & 99 & RIS [Gaxv] & fqde 1 I 5

Discuss the spatial pattern of density of population in India.

muﬁésﬂt%ﬁﬁuan%ﬁ%ﬁﬁmﬁé? 5

Differentiate between Primary and Secondary activities.

STITthoI HHHUT BI T TR DI fade=T difote| 5

Discuss the three stages of demographic transition.

Q1907 Y B T R s v - et 3 3 ST A 3 v vt
& I Fasd| 5
Discuss the important characteristics of Plantation agriculture. Name few
important Plantation crops from different countries.
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26. (&)

(a)

fedr A fowg & et Y@ amkE § AR @2 (i), (i), (i), (iv) © =9 F @iy
T & | A & TS O & SR IR aed] B Ugan ar #EkE § ffed e w®
3T Fe A1 forRRaa- Yax4=2
(i) HAeT AR 3R @d 9R & B gl 761 & 9

(il) AT IUE BT g&d &

(i) NTFTDT BT vb AMRIE!

(iv) EII-ARSRT XeTd &1 gdf SHer TR

Fr=ifea @1 YRa & 5 T8 Xeifere Yam At & awried qon 39 = &1 9 9
faRaa - 1x3=3
(i) ITRIEUS &I U THE Teh TR

(i) Tras-qoT ienfires waer

(iii) 3THH BT Th HEYUT e 3UEdH &

In the given outline political map of the world, four features are showh by

(i), (ii), (iii) and (iv). Identify the features with the help of the information

given below and write their correct names on the line marked on the map-

- (i) Name of the canal which connects the Mediterranean Sea to Red Sea.

(b)

411 (IOH)

(ii) Largest region of fish production
(iii) A mega city of Mexico

(iv) Eastern terminal city of Trans-Siberian Railway

Locate and label the following in the given outline political map of India and
write their names also-

(i) One main tourist town of Uttarakhand

(i) Mumbai-Pune industrial region

(i) One important oil producing area of Assam
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Al gReds wtenfial &g e v 26 & o w2

Note : For blind candidates in lieu of question no. 26
FefeRad yemi & Fa= Sfe- 1x5=5
(i) STRTEvs & v 3l TR &1 91 ga=r)
(i) aﬁ%u:rﬁ‘f%ﬁmiaﬁéﬂf%arﬁaﬁﬁqawﬂwml
(iif) ¥R & TP J&d AR BT 97 AT
(iv) RS # YT 3eares & spoft 150 & 91 sarse|
(V) 5T AR 3R o1t AAR B S8 16l Tex @7 A1 gaTee|

Answer the following questions-

(i) Name one industrial city of Uttarakhand.

(i) Name the Western terminal city of Canadian Pacific Railway.
(i) Name a mega city of India.

(iv) Name the leading sugar producing state of India.

(v) Name the canal which connects the Mediterranean Sea to Red Sea.
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